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s 6.586.000,000 6.586.000,000 7,314,457 459 7,314, 457,459 7,314,457 459
200 6.586.000,000 6.586.000,000 7,314,457 459 7,314, 457,459 7,314,457 459
2 = ol 2 135,882,000 135,882,000 137,288,902 137,288,902 137,288,902
210 g, 135,882,000 135,882,000 137,288,902 137,288,902 137,288,902
%lgl%ﬁ530|x+ o 135,882,000 135,882,000 137,288,902 137,288,902 137,288,902
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6,450, 118,000

6,450, 118,000
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7,177,168,557

7,177,168,557
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4,450,118,000
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4,450,118,897
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4,450,118,000

4,450,118,000
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4,450,118,897

4,450,118,897

égéggg 2,000, 000,000 2,000,000, 000 2,727,049,660 2,727,049,660 2,727,049,660
éji;gggggg 2,000,000, 000 2,000,000, 000 2,727,049,660 2,727,049,660 2,727,049,660
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